





Barlagnama: A

1.cos(a — ) =?

' a)cosacosf —sinasinf b)cosacosf +sinasinf
¢)sina-cosf +cosa-sinf d) sina-cosff —cosa - sinf
2.cos(a+ B) =7
a)cosacosf —sinasinff b)cosacosf +sinasinf
¢)sina-cosf +cosa-sinf d) sina - cosff — cosa - sinf
3.sin(a + B) =7
a)cosacosf —sinasinf b)cosacospf + sinasinf
¢)sina-cosf + cosa-sinf d) sina-cosf —cosa-sinf

4.sin(a — pB) =?

a)cosacosf —sinasinfS b)cosacosf + sinasinf

¢)sina - cosf + cosa-sinf d) sina - cosff —cosa-sinf
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5.tg(a+ B) =?
) tg a+tg B ) tg a+tg B ) tga—tg B d) tga—-tgf
1-tgatg B 1+tgatg B 1-tgatg B 1+tgatgp
6.tg(a— ) =?
Szl | tEattep ) tga—tgp d) Be8h
1-tgatgf 1+tgatg B 1-tgatg 1+tgatgp
7.Ctg(a — B) =7
)ctgactgﬁ+1 ctgactg f—1 )ctga ctg f+1 )Ctg“ ctgf-1
ctg a+ctgf ctga—ctgp ¢ ctga—ctgpf ctga+ctgp
8.Ctg(a + p) =?
a)ctgactgﬁ+1 ctgactg f-1 )ctga ctg f+1 \Ctga ctg f—1

ctga+ctg ctga—ctgf ctga—ctgp "ctga+ctgp




‘ sin(a+ B) =sina-cosPB + cosa-sinf

Goy,3=a bolsun,onda

K sin2 «x= sin(a + a) =
=sina-cosa+cosa-sina = 2sinacosa

‘ cos(a+ pB) =cosacosPB — sinasinf
Goy,3=a bolsun,onda

cos2 x= cos(a + a) =

= cosacosa— sinasina = cos>

2

a—Ssin“a

Z 2 2 2

cos’a—sin‘a=1-sin“a—-sin‘a=1-2sin*«a

2a — sin? a = cos’a — (1—cos?a)=cos?*a — 1+cos?

2 — 1

cosS
=2Cco0S

a







Berlen cosx=0.8; O<x< Z Tapmaly:sin2x

sin2 x+c052 x=1

sin“ x=1-cos” x

sin x = +4/1— cos” x = i\/l—O,S2 —
=+./1-0,64 =+./0,36 = 0.6
sinx = 0,6

sin2x=2smmx-cosx=2-0,8-0,6=0,96
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v , . .» sin40
Anlatmany yonekeylesdirin: o0’

i
sin40”  sin(2-20°)  2sin20 -cos20
sin 20 sin 20 sin 20

=2c0s20




Temany berkitmek:
103-nji gonlikme.

1 T
i cosa =— we 0 <x< > bolsa,onda sin2a, cos2a,tg 2a hasaplan

2 > —
_ 1 1 3 V3
sma=-l_-\/1—cosza=i 1—[=] =% —— =4 Z=‘|_'—2

\/% 2

T
0 <x< E,onda sina = —

sin2 x=2sinacosa = 2
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sin2 « =z

2 2

cos2a = cos“a — sin“a =

/""\

tg2a =
oy g CO0S2 X




106-njy gonukme.

2

(sinx+cosx)?  sin? a+2sinccosx+cos? a
a) _ — : —
1+sin2« . 1+sin2«
1+ sin2 «
1+ sin2 «
) cos2x __ cos?> a-sin*a _
sinx+cosx  sinx+cosx

(cos x +sin x) - (cos < —sin x)

= - = Cc0S X —SIin «
Sin < +cos <
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* 107-nj1 gonukme




